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1. Choose Ih{ :]n 5 P. s ht’}%‘) the cheapest
C We staved -

i : iestion not
(A) cheapet F) Q

Q) ¢
attempi (©)  the cheap
(T cheap

"H ) ‘ : 'h 1"(‘“ Q('“I( nce l » ]‘(“\ .
t 1 ’- 51
;| m ”‘{ I' 11 l. n ¢ W (

the mogy APPropriate worg from the Options
. gven hﬁlﬁ“-!:h : fitnoss is that she a— p before
The gocret 0f het X m gets
:fn will get (

Sunrise for an hour's speed walk.
a“"mpted (©) getting

*rm-wnﬂ?aft?n%ﬁ??h‘%mﬁflam@ﬁ
‘.‘::tnﬁj'\ 1 g #

(F)  Question not
(M ot

")

(B)  Uromsias g b M e € 2

(4) s g B) SR e © =zt g
(D) Y= ug (= ‘

€. Match Listd] with List-11 ; LSt

ist-] v .

T A (i) Study of birds
th Omithn_lng\' (n) Fear of water
() Congenits] (i) Absence of rule, law and order
(d} Hvdrophohia (iv) By birth
Choose the most Appropriate answer from the options given below -
&) D, O-6) (Q-v), @)y A ). ()6, (<)), (a).(y
) @), @)-Gv), (©)-0), (d)-(iii) O) @), (b)-(ii), (c)-(i), (d)-(iv)
(£} Question not attempted

5.  Given below are two Statements,
Statement | - ransplacental transfer of immunoglobulin (IgC}) from mother ¢ the foetus is an

©xample of Artificial Passive Acquired Immunity. : R
Statement 1 . njecting Ang Tetanus Serum (ATS) against tetanus is 4 fase of creating Natura]
assive Acquired Immunity
in the light of tie above statementsg choose the most appropriate answer from the options giv en
below -
() Both Statemeng | and Statement 11 are incorrect
(B) ¢ alement | o correct but Statement |J is incorrect.
“’; | Slatemeny | Incorrect but Statement 11 is correct
) Both Statemeny | and Statement 11 are correct
(k) _'JLI' Shon not ﬂnt‘lllpttd
:"»E?-'!-rﬂ?f':U.Tm'? " 2 iy ~e
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(D) ﬁl‘.{gm (E) 3T v (©) fift + €1
jentify the category of orge . —
" z‘a)enuBﬂb\ sitter at home Banized child care from the fu]luwm;r
Kindergarten )
© Creches )
(d) Preschools )
oose the most appropriate answer from the o 3
d(d) o phohs ven below :
ffﬁi f: i S o:l]: g 8) {€) and (d) onlf) *g'i O (o), (© and (@ only
uesti
broefefgn & 8w ¥ 3w ¥ g e Lol 7
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(&) @ (b) I (d) (B) Fa (a), (c) 3 (d)— (©) FE (b), () ¥ (d)
(D) %@ (a a) 311 () (E) orqafid 5 =
g. Identify the odd word from the group of words g‘lVe;:l_Below relating to ‘tobacco’.
(A) Subtraction (B) Division oo (C) Equation
(D) Addiction (E) - Question not attempted

=

words between the ages of two and three years.

9. Most toddlers learn about
mmmaaﬁaﬂmmuaﬂm Rtk ok
(4) 300 (B) 100 (C) 200
(D) 500 (E) Question not attempted / aad I
10, TE 1% W g 1 1 A FIC
Tt 1 gt 11 —
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@ d= @ =
b) Tz ) 42
(c) (i) = 0
(d) fame (iv) ey 1

g e 0 i § @ wa@ I I
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14.

-t v B R R WA W G ST SR 2

(A) TgET A (B) B8 WA (C) s T
(D) Yt FHE (E) ITgufd ¥ o0
'j:’ﬁ,:f

vt ¥ ot H o A WS W1 1 Fwed €2 e
(A) wg B) A  (© v
(D) o (B) orgaRd ¥
Match List-I with List-II : oo

List-I List-I1 e’

Word Synonyms e
(a) Aberration (i) Unnecessary
(b) Perpetual (i)  Plentiful
(¢) Redundant (iii) Constant
(d) Abundant (iv) Deviation

Choosc the most appropriate answer from the options given below :

(A (@-v), 0)-(ii), (©-G), (d)-G)  (B) (@)-(iv), (b)-(ii), (c)-(i), (d)-(ii)
© @), 0)-G), (-Gv), (@-Gi) (D) (a)-Gii), (B)-(D), c)-Gii), (c)-Giv)
(E) Question not attempted s

Identify the pillars of interventions of the India Newbom Action Plan (INAP), 2014.

(a) Care of healthy newborn B
(b) Prevention of stunting, undernutrition and anaenua in young children and women

(c) Care beyond newborn survival :ff

(d) Preconception and antenatal care St

Choose the most appropriate answer from the optlons ‘given below :

(A) (a), (b)and () only  (B) (c) and (d) only .- (©) (b) and (d) only

(D) (a), (c)and (d) only (E) Question not attempted

e =aH THH wF (INAP), 2014 % &l & sl &l 9gaH HIfag :

(a) T TG FI @A

(b) =72 o= AR Afeensii # sraEsd], 37~ UHU G Weddl § S

(c) o fory] & <fifad &9 9 W 3@V
(d) TTEYE FUT W 9L I@HTE

= fau v fommed § 4 @R Suge S g1 ¢ [
(A) ¥ (a), (b) & () (B) %A () ()~
D) F=@ (), ) AR (d) (F) orgaR@ ¥

An itemn is sold for T 400 after allowing 20% dnscount Wh"lt would have been its selling price if

(© Fad (b) 3R (d)

15.
only 10% discount is allowed ?
v g H 20% mtyaa'm?uooﬁamm%l‘fﬁwmﬁ?‘%w% i g {1 Sl A 3 T e
C2I ?7(” 7
(A) %420 (B) T 440 (©) %450
(D) %410 (E) Question not attempted / 31':]_?|ﬁ?f
N
{oi B62 Ry T Rn® hego yo .
- % uo 0 ”; 5] 9 %\\ °

L o
! (5 Ve

Scanned with CamScanner



https://applink.adda247.com/d/XhqWf9lSap

Adda247

6 ﬁa“ﬁmw"mﬁmﬁm:
16.

18.

18,

20,

& B2 5

i

gt 1 e 11

R et vz
g T 0
ORI A 0
g T® @ S L)
@ ™ ) W 6,

ﬁﬁqmmﬁﬁmmmwwaﬁmw:

@) @) -0V, ©-G) (@)-Gii))  (B)  (a)-@), ©)-(iid), (©)-(¥), (d)-0)
© @i ©-V) ©-6), (@-Gi) (D) (a)-(i)s (b)-(), (©)(iv), (d)-(ii)
() A A el

Which of the following is not an infectious diseasa 7~

(A) Osteoarthritis (B) Dysentery (C) Tuberculosis

(D) Diphtheria (E) Question not attempted

frfefiE § | FH U Hehaa I 76 32

(a) sired smidem (B)  dfaw (fede) (©) e (F[IEREI)
() Tewdifn (B) erafm v

The age specific acquisition of skills and competencies in each domain is called : (Choose the most
appropriate option from below) s

(A) Growth (B) %ﬁelayed development
(C) Development milestones (D)_= Development

() Question not attempted ™ F
¥ T § oy ot S S <E B SHia P, FEer € : (fre § & Had Sugea W F

%) I g .
A) T3 (B)iﬁ_;lﬁﬁﬂ o
() TommmTs AEaerg (Hid F1 %) (D)o

() #gafd w¥A

is 11,000. If the numbers of males increase by 11% and the

The t lation of a village
present populabon O & then the population will become 12,660. What is the present

numbers of females increase by 20%,
population of females in the village ?

@’ﬁaﬁaﬁmm@nn,ooo%mﬁgsﬁffﬁmﬂ% ﬁnqﬁmaﬁﬁﬁwzoeegagw%?h

Wﬂm]gmﬂmm‘ﬁﬁqﬁwﬁﬁaﬁqﬁmﬁﬁﬁ%? L
(4) 7,000 (B) 5,000 L (C) 5,500
(D) 6,000 (E) Question not attempted / CERIEC RS

A grocer ha, : t of which he sells at 8% profit an'd the rest at 18% profit. He gains
1% on the ;i%ltg‘;'\lf(}:ﬁa,tai sp?}:e quantity of rice sold at 18% profit ?

VGO 3y g fop g, et €, TR U W B% TN R SR A 18% T R 3 | S
T e 140 3 o fre ) 16% 1 A T A W@

(A) 32 kg /fopam, B 2kg/F (C) 48 kg/fwm,

(D) 58 k g /ﬁ;m (E) QueSﬁOn not attempted / B;I'i'ﬂﬁﬁ rC

P.T.O.
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21, Freffiaa § A frg sREeE v F o - 97, F, ¥, o ok €2

(A) == ® f= C) W&
(D) fag (B) oTeRd ¥
-
22. Prafatas faeed d | 'aiE - aﬁ'w—mﬁ}ﬁﬁmaﬁt |
(A) VTS - ST (B) TR - T, © -
D) T - T () ST 0

23. In a college election between two candidates, éﬁﬁe candidate got 45% of the total valid votes. 20%

of the votes were invalid. If the total votes were 14,500, then what is the number of valid votes
which the other candidate got ?
@mﬁamﬁmwﬁ@maﬁgﬂmaﬁmw% T AT 20% A2
s 91 AR Fe 912 14,500 9, A a7 WeAEit Y W el et feRel HEA Wi g 2

(A) 5,220 (B) 6,525 (C) 7,975

(D) 6,380 (E) Question not attempted / SR 9

24. Choose the most appropriate image opti?}ﬁ'jjvhich resembles the mirror image of the given
combination from options below. s
ﬁﬁﬁmﬁﬁm@ﬁﬂﬁaﬁamﬁ@@ﬁﬁmwmﬁaﬂm :

S

FUNFLIPS —
(A) 2dILaNu3 (B) JFem ©) 2duanu3
(D) 29ILINUF (E) Question ot attempted/ A T

25. In an examination, 40% marks are required to pass. A obtains 10% marks less than those required

1 3
to pass. B obtains marks 11 a% less than those of A, while C obtains 4lﬁ% marks less than sum

of A and B together. What percentage of marks has C obtained ?
@ﬁwﬁwmﬁ%mmmﬁaﬁﬁm%maﬁwwﬁ%mwgﬁﬁm%

) 1 .
dFFIUEELI BHA G 115% %7 37 WK gY, STl C 1 A 3fRB H AR 41%%maia?m

01 C #1 o wfawm i W< ge? -
(A) 40 (B) 35 s (C) 45
(D) 50 (E) Question:higjt’;attempted / STafE v
26. Choose the most appropriate option to fill 1 N ';th‘!e blank in the given sentence.
You're out of breath. ? A
(A) Have you run (B) Have you been running
(C) You had been running (D) Are you running

(E) Question not attempted

/e: B62 6
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Which conclusion would follow on the basis of given statement ?
: The man T g T :
Gratement "ager humiliated Mukesh in the presence of his colleagues.

Conclusions : l. The manager did not like Mukesh.

1. Mukesh was not popular With his colleagues.

27.

In the light of the above statements, choose the most appropriate answer from the options given

helow. ™)
(A) Only Tl follows () Neither I nor II follows

©) Both 1 and 11 follow (D) Ol‘ﬂyl follows
() Question not attempted ,
g T FUAT SR T H W :ﬂgumm?

— e 3 TN B u weHE ) uftefs ¥ st BRI
gl L TSR g9 FI TE=R T B 9

0. g9 379 gesiidl & =g g T Al
mﬁ%mﬁ.ﬁmmﬁmﬁ%mmmgﬁl

(A) Fow 11 SIS0 FT (B) mmaﬂwz’rnwm
(© T 18I S (D) %amaxwa&m
(€) ¥ ¥ 5

2. ldentifv the principles of development from the following :

(2) Development is sequential e
(o) Development refers to quantitative changesm the body

() Development is a product of maturation and learning

(d) There are individual differences in development
answer from the options given below :

Choose the most appropriate
(©) (b), () and (d) only

(A) (b)and (d) only (B) (a)and (c) only
(D) (a), (c) and (d) only  (E) Question not attempted

(a) fa?ﬂﬂm‘mr?l
(b) mwnuﬁmqﬁaﬁmmuﬁmmen
() o e i e @ v SRR

(4) o # wfama i €1
14 fev g fagred 4 @ wrd v IWHT L
(A) &&d (b) 3 (d) () Fad (a) S ()
©) F@ ), () ol (@) () oI

Y
7 P.T.0.

(C) FE (b), (c) 3 (d)
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29, '3+ 3 = I TE G TR T WY ST ¢

(A) wE ® = (© T HH
(D) Torert W () @ T —,

30. m+§a='wﬁm'wﬁmﬁﬁmﬁuwmﬂmm%? -
(A) fawt dfy (B) wE wf {'_:': (C) e §fy
(D) =Rty (E) Wﬁam

31. Identify from the following, the food groups that make up a balanced diet.
(a) Vitamins and Carbohydrates (b) Proteins and Carbohydrates
(c) Fats and Minerals (d) Proteins and Fibres
(e) Vitamins and Minerals ‘

Choose the most appropriate answer from the optlons given below :

(A) (a), (b) and (c) only (B) (a), (c) and (d) only

© (C) (d) and (e) only (D) (b) (d) and (e) OfﬂY

(E) Question not attempted

ﬁwﬁf@aﬁﬁwma@ﬁwﬁ?ﬁa@%ﬁmm%l

(@ Toatm iR wEleEse (b) e SR FEfEESe

() E FAR T (d) mazamﬁ

(e) faafmm iR wf= a
mmﬁmnﬁmmwmwaﬁm o

(&) ¥ (a), (b) AR (©) (B) ¥h(a), () 3 ()

(C) a4 (c), (d) IR (e) (D) & (b), (d) 3R (e)
(E) oara wei

32. On a certain sum, the difference between compound interest and simple interest at 10% p.a. for
2 years is T 126. Find the sum. (in X).

wﬁfmmuﬁamza&aﬁwfu%ﬁﬁﬂm%uﬁmﬁaﬁﬂmammaﬁzmwmﬂm
2126 &1 = ufer 3w Fifog (w99 #) | p—

(A) T 12,600 (B) %16200 (C) ¥ 10,800

(D) % 12,000 (E)  Question not attempted / 3TaRd W

33. The pioneers of early childhood education in lndxa does not include :
(A) Tarabai Modek (B) Maria Montesaon (C) Mira Ben
(D) Gijubhai Badheka (E)  Question not attempted

T H wrifvres s foen & yd snow § fre § Y @i afte g

(A) AR HieE (B) wfean wiewd (©) A
(D)  7itsj g =i (E) orqafa we
i®: B62
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The effects of lodine deficiency during pregnancy include : (Choose the most appropriate option)

» " congenital abnormalities in the pregnant woman.
®) mental retardation and congenital almmmahhec of the foetus.

) mental retardation as well as umpomtal alwnmmqhheq in the pregnant woman.

()

® Question not attempted
ﬂmﬁmﬁﬁ?ﬁﬁ%umﬁuﬁuﬁa% tﬁqﬁ@mquﬁ)
() ofadt wieen ® SIS STEE=IAT] _‘j__‘.,}

®) wmmﬁﬁwaﬁmm

, e wieen § FEEE Heal S SEEeE

| el Sieen S TEEE ALl

E o I

mental retardation of the pregnant w, omnn

. Fill in the blank in the given sentence by choosmg the most appropriate word from the options
given below : Ll

] am proud to say that all her efforts have resulted securing the top rank.
() by (B) in ~ () into

(D) from (E) Question iidtiéttempted

%. What should lactating mothers avoid eating P
(A) Tinned juices and preserved foods (B) Pulses
(C) Curd and milk (D) Fruits and green vegetables
() Question not attempted

(4) ez sm win wifa = wd S(B)
€) = stngy (D) e A wfed
)  =efm g

,

What sum 5 given below will become ¥ 11,780 in 3 years at 8% p.a. simple interest ?
8%

wioad maro s w1 oE @ 3aﬂa:mmftﬁmﬁﬂﬁﬁ=ﬂuﬂuﬁr!n7soamﬁa
(A

)% 9000 (B) ¥ 9500 (©) 9600

D
S Tt 8500 (E) Question not attempted / STRRE 9y
b} Bsz i
9 , 3
- PT.0.
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38.

29,

40.

Given below are two statements :

Statement I:  Depending on the height and pre-pregnant weight of the woman, there is a
increase in body weight from 11 to 15 kg in pregnant woman.

Statement II : The levels of glucocorticoids, thyroxine, aldosterone and parathormone increas
during pregnancy.

In the light of the above statements, choose the most appropriate answer from the options give

below.

(A) Both Statement I and Statement II Are.incorrect,

(B) Statement I is correct but Statement Il is incorrect.

(C) Statement I is incorrect but Statement I is correct.

(D) Both Statement I and Statement II are correct

(E) Question not attempted

9 R weE g ¥ b o

HUTI: nﬁmaﬁaﬁﬁaﬂvﬁiwmm%mm%nﬁaﬁ Tfgen % T F g9 | 11
15 fb. . = o 2 31 vy

w YT 10 : mﬁw%ﬁm@ﬁmmmﬂaﬂﬁnmmm%m%l

SR FUT F e F, T g T e § ¥ wod suge S9 w997 Hife

(A) =TI SR I T o B :

(B) HYT I TE ¥, dAfHT w11 T 2

(C) YA 1 7o &, fhT e 11 el 2|

(D) g1 3R SH wet £ —

(B) Iaia ¥ o
feforrad 3 § S 9 S TR & 2
@ T B C R © | g
(d) gt () £ 51
mmmﬁmﬁﬁmwwmwaﬁﬁq |
(A) F=@ b), (), (d) (B) = (c), (d), (e) (©) 94 (a), () (o)
(D) &= (a), (b), (c) (B) STaRd WA
gt 1 & = gei 1 1 faem i :
e I g 11
(a) 3=7H () fam "
(b) W (i) Sgura e
(c) &R (i) faea i
(d) @reE (iv) ol N

ﬁﬁqwﬁmﬁﬁmﬁmwﬁﬁw

(A)  (@-(id), (b)), (©-(), (d)-(i)  (B)~(a)-iii), (b)-(i), (c)-(iv), (d)-()
©  (@-(), (b)), (0)-i), (d)-Giv) (D)~ (a)-(i), (B)-(ii), (c)-(iv), (d)-C)
(B) ergaRa wed

ie: B62 10
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/
atch List] itz TR List-II  &isk
a &
h List-1 . (i) Female foeticide
a Shiksha Abhiyan ey - A
@ Sarn«’:lrgnrIty Benefit Act, 2017 :it 13 (11) SSA, RMSA, Teacher Education
() Mo f persons with Disabilities Ll J (iii) Creche
Rights ©* P hcj (iv) 21 Types
(€) onception and pre-Natal Dlagnos ;
(d) hniques Act ‘:-
Technid
1 @ gafea wIf —
@—I a'ﬂ‘ @ - W}"II
g1 - q (T
SREA . i yoreedl
(a’ v . SSA, RMSA, T farem
m aqﬁﬂﬁW, 2017 (U-) ’ ’
ﬁﬂm 3 SR (i)

ﬁﬁmwwﬁﬁwmaﬁmafaﬁm (v) 21 ¥R
(((:lhooce the most appropriate answer from the options given below :
ﬁmmﬁmﬁ@mmwﬂ -
@ (), (1), (-9, @0 (B) £ @R O-6, OO (O (xv;
0 (@-). (b)), ©)- -(iv), (d)-(0) (D) ¢ (ﬂ)‘ (iv), (b)-(), ()-(ii), (d)-G
(E) Question not attempted / ST 9 _*_‘__"—

2 aﬁrl%‘mvﬁrnmmﬁm; -

1 gt 11 B
e watgaTst 951 '
@ wE @) T
6 @ T
CI (iii) @
d T (iv) TR

“mmﬁmﬁfﬁam@rwwﬂww

(A) @), (b)-(3), (c)-Giv), (@)-G)  (B) - (a) -(iif), (b)-(ii), (©)-(1), (d)-(iv)
©) (@), (b)-Giv), (c)-(i), (d)-() (D) (a) -(ii), (b)-(iii), (C) (iv), (d)-G)
(E) Gﬁﬂﬁﬂ PECt -

x!r—n_} |
o appropriate option from the. Hindi technical terms given below, for the English
word ‘Authentication’, o
n (B) g'mﬂﬁ'cﬁﬂ ©)
s (E) Question not attempted

4,

11 P.T.O.

R
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44. Match List-I with List-II :

—

List-I List-II "
Vitamins Deficienfggﬁisease
() Vitamin B, (i)  Ariboflavinosis
(b)  Vitamin B, (i) Scurvy
() Vitamin C (iii) Beri-Beri(_
(d) Vitamin B, (iv) Pellagra (¥
Fet-1 9 gei-1 | gifem =i )y
gEit-1 wet-11 (0
feafim STTE=T |
(a) Toafmm B, (i) SHEErRIfaAEY
) Tt B, (i) THdl
() T cC (i) G-
@ Tt s, (iv) Yem

Choose the most appropriate answer from thé-options given below :

e fog e fowed! § ¥ weW SugEa sw g ; _
(A) (@), (b)-(iid), ()-(ii), (d)-()  (B)L_{(@)-(iii), (b)-(iv), (c)-(i), (D)-(id)
(©) (@), (b)-(iv), (9)-Gi), (d)-() (D) (@)-(iv), (b)-(ii), (c)-(iid), (d)-(i)
(E) Question not attempted / SCRd Y¥:7 =

—_

-

45. Which of the following commissions has be@i_&andated to monitor the implementation of POCSO

Act, 2012 ? e |
e § § o oM #1 POCSO 31ffiRm, 2012 % sfad ¥R & @ 2 =1 Jave, ¥ = 3 Frfm
fEm T 2

(A) RTE (B) RPWD | @ Npac

(D) NCPCR (E) Question not attempted / ARG WA

46. A started a business with ¥ 1,40,000 and after 5 months, B joined A as his partner. After a year, the
profit is divided in the ratio 2 : 3. What was-B’s contribution in the capital ?

Aﬁvﬁ?mﬂ,ﬂ,o,oooﬁmﬁw%ﬁ}?ﬂﬁa%aﬁﬁAﬁm%mﬁg@;w}@aﬁ
AT T4 E 2: 3 F U H wiler w1 B YA Anrar e an? |
(A) T 3,20,000 (B) ¥ 3,60,000..." (C) ¥ 3,00,000

(D) % 2,80,000 (E) Question'not attempted / 3TARE e
Y

47. A, E H, K R, S are sitting around a circular(fable facing the centre. H sits to the immediate right of
R. K sits second to the left of R. A sits second;to the right of E. Who sits third to the right of A ?

A, E,H, K, R, S TIreem i & =il $iR 7 1 1 260 e 43 gu ¥ | H, R ¥ gen < 4 dmgen 1 K,
R& a4 A gAY ®H WR| A, E & <4 g @ W ¥ A#ﬁﬁﬁﬁmmmaﬂqh%?

(A) K (B) H (© S
(D) E (E)  Question not attempted / T3afa Y& _Ji Cj"
g4 |
ie: B62 12 ﬁ - u9 l
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Wﬁaaﬁwmwm%?
oy W - (B) wirum ©) HeR
:D) e (E)  STaRg
,ﬂmﬁmﬁvm@mﬁrémmﬁmmwaﬁm:
) T B) s - © g
() S (E) oraf@ wed
ﬁqu@ﬁﬁﬁaﬁam%m%—
" (a) S W S (b)  TSirE i S E ) et T STl &1
@ e T S () TuT R Az T W |
#2 fo e fEwedl § 9 WEd SUGER I F1 94 T : |
&) F=@ (b), (), (d) (B) % (a), (b), (c) (© Fad (a), (), (d)

@) F= (), (). () (E) STgafd W

51. Choose the most appropriate option to fill-in the blank in the given sentence.
Shehas____ French name but infact she’s English, not French.
(A) a (B) an (C) no article
(D) the (E) Question not attempted

52 Children with may experier?::e?difficulty in responding to the regular forms of care
and discipline. A &
(A) Disability (B) Behavioural issues (C) Molar disability
(D) Sensory organs (E) Question not attempted _ ,

¥ WY 55 TEUE SR SIIEA % aHd &9 H T < § T 1 STyd S A ¢ |

(&) Zrgma (B) AIERIHE T (C) e Farw

(D) Had = () HIuRd WA

53,

Expand RMSA :
(A) Rational Madhyamik Shiksha Abhiyan
(B)  Rashtriya Madhyamik Shiksha Abhiyan
(©) " Rational Medical Stipend Allocation
(D) Rashtriya Medical School Abhiyan

) Question not attempted —
RMSA 31 e 9 # -

(&) wrres v fove o

. 13 :
o - P.TO
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4. Match List-I with List-11 : ,
List-1 List-IT
()  Practice Play ()  Representational system develops
(b)  Dramatic Play (ii)  First stage of Smilansky’s play
(€)  Symbolic Play (iii) Children, use imagination
(d) Functional Play (iv) Majoir_.l'bie of senses during play
-1 9 geit-n S gife i - A
-1 '!:Fﬁjll:‘;E
(2) *T™ B (i) uﬁﬁﬂ:awaw %1 faapma
(b) REE AF (i) TCRER G F G s
() wiEeE da (iii) = FeqT F T FA@ E
(d) wHEES e (iv) B % A AT T g i

Choose the most appropriate answer from the options given below :

ﬁ@mﬁﬁﬁﬁmmwgﬁq:

(A)  @-v), O)-(ii), (©)-(), (d)-(i) (B)  (a)-(ii), (b)-(i), (c)-(iii), (d)'(i‘f)
©  (@)-@), (b)-(iid), (c)-(iv), (d)~(ii) (D) (@)-(iit), (b)-(iv), (c)-(ii), (d)-(i)
(E) Question not attempted/3TT9d 9

55. Integrated Child Development Servicesj(ljéDS) projects are set up in backward and poor regions
and cover children who come from: o__*

(@) landless families {3

(b) affluent farmers with high familysincome

(c)  scheduled castes and scheduled tribes families

(d)  families whose monthly income is”léss than Rs. 500/-

Choose the most appropriate answer from'the options given below : :
(4) (©and@only (B) (a) (6).and (d) only (©) (b) and (¢) only
(D) (a), (b) and (c) only  (E) Question: not attempted -

Integrated Child Development Services (ICDS) W@ i qon fers soms 4§ TR T ST § SR
o= %1 Aifoa S5 € S q & ¥
(a) 4fEEMm ufEnr

(b) == WfElE @ A 9o faam gfaw
(c) =ryyf=a wifa 3 srygfas sefy ufEn

(d) wfEm o mifes w500 wa 9.5 3
A4 f2u o famedi # 4 g

)T ) (B) i) (o) 3 () (© ¥ b) o (o
(D) %@ (a), (b) = (c)

(E) srafta wem

56.  Find the next number of the

P given serieé:,: j
4 40 3 o e i

QEEI!EN | ;". ™y
3,7,13,19, 29, 7 N
(A2
(A) 35 (B) 39 (C) 37
(D) 31

(E)  Question not attempted / TR Wy
:e: B62 14
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s a field of agricul ’ f 20% and two-fifth
man buys & 2t agricultural land, He sells one-third of the land at a loss o o
57 land at a profit of 25% A e y ining land so as to
: the th st he sell the remaining

o{ako an overall profit of 10% 7 ow much percent profit mus

=f T FH 8 @z @ Sos o wifr o A= & € S
@ | 98 34 Aqft-d v fagE 9 20
/5 1 T 25 9“"*"“““‘&%%@aﬁgi()muﬁmmw‘?*ﬁqﬁm ot fere ST

(A) 20% (B) 18% ©) 15%
(D) 25% (E) Question qnétj.iallemp&'d/ g ¥

@ DE R, S, T are sitting, on a bench facing Notth. T and E are sitting together. T and R are also
o sitting fOSGthCT. P is on extreme left. E is secBHE]ﬂ from extreme right. Who is sitting between P and

E?
(a) TandS (B) RandT (C) TandE
@) RandS (E) Question not attempted

p.ER S T TH 94 WIHH aﬂw@méﬁ%wﬁr{ﬁmawﬂ%%wﬁmaﬂwéﬁ%npmaﬁ
REETEIE AN WA R I PAREF Ao d S T 87

(A) Taﬂ‘TS (B) RRT ~y (C) T3RE —:—‘;‘pr ;;18\,
D) RRS (E) R Wi PT’»%ES fu 3

ss. When was the national Early Childhood Caré and Education (ECCE) Policy approved by the
Government of India ? _r_::
T T SieEE @i Si fae (ECCE)Hifd I TR G F W14 h T ?

(&) 2012 (B) 2014 (C) 2015
D) 2013 () Question not attempted/3r3aRd ¥&
60. T 1% =9 ge 11 1 THe it :
Gl et 11
it wrex ((wifaTiaes 9151 ) atdrsit wEm
(a) @< (i) Appellant
(b) Hfea (i) Clause
() afuge (iii) cOdTe;
(d) il (iv) Accused

4 fru 1y farapedi # @ wEw agA SR ﬂ‘ﬁiﬁﬁm
(A) (@), (b)-Gi), (©)-Gv), @-G)  (B) @)-(iv), (B)-0). (c)-(i), (d)-(ii)
© (a)i), (b)-Giv), (-G}, (@-Gii) (D) (@)-(i). (b)), (©)-v), (d)-()

®) wrwRa v =,
61, ﬁmmmmwﬁwmmﬁmmﬁzm%@@m%?
(A) Iqei (B) W (€) ¥
(D) i (B) orgaftd T
¥: 862 15 P.T.0.
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62. When is an immunization card prepared for
(A) At the age of six weeks
(C) Immediately after birth
(E) Question not attempted

a newborn to get vaccinated ?
(B) At the age of nine weeks
(D) At the age of six months

-ww#mmmm#mvﬁﬁmmmmm%?

(A) OF TR F Y W (B) 3 g # 9g W
(C) % T v f_(‘q)azm's'aﬁawrgm
(E) 3aRa ¥A z "s
63. Match List-I with List-11 : 0
List-1 List-1T '
(@) Difficulty in oral language (i) Difficulty in learning the connection between
' letters and sounds
(b) Difficulty in reading and writing skills (ii) Hyperactive
() Difficulty in social behaviour (iii) Difficulty in tying shoes ‘ _
(d) Difficulty in motor skills (iv) Difficulty in understanding questions
- ® a1 | gafem it s :
I o el 11
() e s F Hfem S5 () e o S % e SR ey He § Fow
) Ve § fomn & wiwe d Hoe o= (i) Sfq whAd
(c) Tt sT9eR ¥ FicAE S () W (AfEw) St F Hfee
d) = Fwe § wiom e (i) T e H e

s fer T famed § 9 Wa® SUgEd SALgHT ;
(&) (a)(iid), (b)~(iv), (c)-(1), (d)-(ii)
(©) (@), (b)-(1), (c)-(iv), (d)-(ii)
(E) Question not attempted / HTARA T

64. Find the greatest from the following options :

Choose the most appropriate answer ff'c_;ﬁl the options given below :

“(B)  (@)-0), (B)-{i), (-Gv), (@)
(D) (@)-(iv). (b)-(1), ()-(ii), (d)-(iii)

14.28% of 700, 11.11% of 819, 9.09% of 704, 6.25% of 960

(A) 11.11% of 819
(D) 14.28% of 700

(B) 9.09% of 704

(C) 6.25% of 960

(E) Question not attempted

Pttt 3 4 geaam oM o fages @ w7 Fifg ;
700 ¥ 14.28%, 819 1 11.11%, 704 1-9.09%, 960 F 6.25%

(A) 819 %1 11.11%

(B) 704 '#1-9.09%
(D) 700 1 14.28% '

()  srfawe

(J1

65. Choose the most appropriate option in fhe passive

People advised us not to go ouf alone.

(A) We were given the advise {o not go alone.
(B) I was advised not to go out alone.

(C) We were advised not to g0 out alone.

(D) To get out alone is not advisable

(E)  Question not attempted '

ie: B62
16

(C) 960 =1 6.25%

form for the sentence given.
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PR L
B

(hoose the missin!:, terms, out of the given alternatives.
. mmlﬂﬂ;ﬂlﬁfﬂ‘lmmmmmqﬁfml
n BsQ. E15], 124E, 7, Z4RA

W 35B (B)  Q3nC (C) R36C

(M R . Y

(m 0355 (E) Q,ucsl‘inn not attempted / zﬂ?{f}ﬂ VLT

d BMI : \ .,:_}

E\r‘nmsic Measure Index _-m) Body Mass Index

(‘) Basic Mass Indicator D) Body Measure Indicator

(C; Qucgﬁon not atﬂ*mpmd L)

gﬂﬂﬂﬂ%: S

A s AW T J(B) =TS W TR

© g T TRIHH (D) =& A TEHH

® AR W

\hat is child mortality rate ? (Select most appropriate option from belf)w) '

(4) Total number of child deaths under the age of two years per 100 h\.fe bu:ths.
(i;) Total number of child deaths under the age of five years per 1000 live %mths.
(C) Total number of child deaths under the age of five years per 100 hv‘e bu!:hs.
(D) Total number of child deaths under the age of two years per 1000 live births.

() Question not attempted

R T 7 (= 3§ wad sage S ) .

(A) mlmaﬁaﬁmzﬂﬁwm%aﬁﬁﬂaﬁw@n
() mlmﬁﬁaﬁwsﬂémm%aﬁaﬁmaﬁww|
€ ﬁlmﬁﬁaaﬁmsﬁémm%aﬁfﬁmaﬁwwl
D) 7 1000 ST =<3 T 2 99 A FH9 A & g B G Hl Fa qeA
(€) srRE S

Which of the following is NOT an auditory stimulus for the infants ?
(A) Making facial gestures

B) Playing soft music

Q) Talking _y

D) Giving exposure to sounds of birds

E) Question not attempted =

e 1 4 3 fage  fo 42 AT T &7

A) S8 F TE- 9\ T )

B) mpw qwm (W@ ) ()

C) awsita e &)
D) i %t stares e O0
E) ool we

2 17 P.T.O.
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-~ the M terms. out of the given alternatives.
o :ﬁmrgﬁr—ﬁtmmﬁﬁv& = w3 ¥
'1’.‘. a0 Fi5L JME 2 7487
* RSP ®  Qasc (©) RIKC
!,“ {:1,: (T‘ Question not au[\mptpd / Eﬂ—{aﬁ?‘ ¥
i
3 BMI:
ot i‘f gasic Measure Index {R) Body Mass Index
s“‘ Rasic Mass Indicator _ (D) Body Measure Indicator
f: nggﬁ\m not attempted
g TS J(B) =TE wm 3R
(N -
o WS TRETES (D) =7 e 2
gt i child mortality rate 7 (Select most appropriate option from below)
& e Total number of child deaths under the age of two years per 100 live births.
,&:‘ Totzl number of child deaths under the age of five years per 1000 live births.

i Totzl number of child deaths under the age of five years per 100 live births.

D Tetal number of child deaths under the age of two years per 1000 live births.
& Question not attempted

o= 7 37 17 (= E 3 wad sage T )
,-,,-__f'ﬁam_séﬁﬁ?-ﬁmzaéﬁmmq%aﬁfﬁrmaﬁwml

o 3 100 Fom = w5 A A = e A g A g d

(5 100 S T W 5 A G FY A F g F1 ged H 5 HeA |

m ¥ 1000 FifaE w=H w2 w6 A FE A F a4 F1 5] F 5 e

(13 WW’-

6%, Wrich of the following is NOT an auditory stimulus for the infants ?
(A} Making facial gestures
(B) Playing soft music
(C) Talkng
(D) Giving exposure to sounds of birds

(£)  Question not attempted
Trttgn 4 ) g for st & fiau YA ‘.-;n’:.l'l"'l aff &7
(h) A0 % ga- g g
(B) g wivfe aary (v e )
(C)  amdim g
(D) el ) v age
B e gy

 be 17 P.T.0.
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70.

What is the importance of immunization for a child ? Select most appropriate answer f,
below :
(A) Tt prevents children from gelhng diseases for which there are often no medical treatmg

(B) Tt prevents children from un!)‘iealth\ environment.
(C) Tt prevents children from rethhg infected.
(D) Tt protects children from nboéth

(E)  Question not attempted
qara*%ﬁqqﬁmmmmmmp et # 3 e s v o -
(A) wmﬁaﬁﬂm%m_mﬁrﬁwﬂuwﬁ%l
(B) 7 == F) T FEE A g9

(C) TE == #| HFH0 e | g9 21

(D) =& == = 5rad | 599 ¢

(E) ¥gaRa ¥

Match List-I with List-II :

List-I

Word
(a) barren (i)
(b) despair (i)
(c) flexible (iii)
(d) humble (iv)

Choose the most appropriate answezfrom the options given below :
(A)  (2)-(i), B)-(ii), (©-Gv) (-G (B) (a)-Gv), (b)), (©)-Gi), (d)-(iii)
(©)  (a)-(), ®)-(v). (-() (d-(w) (D) @-{), B)~(i), (o)-(ii), (d)-(iv)

(E) Question not attempted

Exposure of pregnant women to environmental pollution can seriously affect the develc

(A) Ovum (B) Sperm (C) Foetus

(D) Meiocyte (E) Question not attempted

gmmmmmm%ﬁmﬁm & fasma =t IR w9 yenfag T
|

(A) @z B) T ©
(D) @4y Fafvn (F) (srufa W
73. Fill in the tence Gioan. choosing :
:- belol\ﬂ e blank in the sentence ?51%11, choosing the most appropriate word from the of
}J The officer noticed a masked man coming out of the bank.
(A) emergency (B) safety (C) watchman
(D) secur ity (E) Question not attempted
ie: B62 18
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" entify from the following the statement which is NOT true with respect to colostrum.
|
74 Colostrum is rich in macrophages and lymphocytes.

Colostrum provides immunity to the respiratory tract of the infant.
Colostrum provides natural passive acquired immunity ‘to the infant.
Colostrum contains 1mmunnp,lnlmlm IgA. G

) 2
®
A

(A)

Question not attempted

aammﬁwﬂﬂﬂﬁ-ﬁm%wzﬁmﬁh
Feren § fenw®ifem 2 s § wyg fm #

o wrren forgell & wa3 ug ) ufawn vam @ ¥ _

© st o w1 Wil fifia () sifda gfn w2 R
) WﬁmlgAﬁﬁﬁm%l

B S T

Intellectual disorder in children include the following :
Delayed mental-development

B

(@) Mental retardation (b)
(c] Chronic deTCQQIOH (d) Mood sw]_ngs
Choose the most appropriate answer from the options gwen below

A) @and ®)only  (B) (c)and (d)only (C) (b) and (d) only
(D) (a). (b) and (c) only (E) Question not attempted v

ws & Siige foww 3 e & & e €

(@) AT T (b) fereifor wrfe fommm

() FEEIEE TEER (d) T FEEd @l

% frv e famedi § | WEQ S9gF SWAA ¢

(A) &3 (a) 37 (b) (B) e (c) 3 (d) (C) e (b) 3R (d)

(D) &am (a), (b) 37 () (E) A T

76. For the sentence given below,
options provided :

The Interpol arrested the spies and sent them to jail.

(A) The Interpol arrested the spies and will send them to ,ml

(B) The Interpol arrested the spies and are sen nding them to Idll
(C) The spies were arrested by the Interpol and sent to ;dll

(D) The Interpol are arresting the spies and sending them to lall

() Question not attempted

choose the most appropriate answer in the passive form from the

o2 19 P.T.O.
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Match Tist-] with LietIT .

Listd List-11

Weord Antonyms
(@) ' Approve (iy Orthodox
(b}  Searce (ii) Traneparent
() Mondern (it) Disapprove
(d) Opague (iv) TFlenty

Choose the most appropriate answer from the options given below :
(&) (a)-(iii), (B)-(i), fc)-(iv), (d)-(ii) (B)  (2)-(ii), (b)-(iii), (c)-(iv). (d)-(i)
(©) i), )-6i), (-6, (@-v) (D) (@(ii), (b)), (). (d)-~(ii)

M) Question not attempted

d ‘A’ after 4 months and invested thl:iu
d invested double the amount of ‘A’ 1
B in the profit (in ) is :

ot frm A7 T FEEE E
fe = 3 379 & 09 T 84,000 TF

‘4" started a business by investing some amount. "B’ joine
the amount of ‘A", ‘C” joined them after 2 more months an
the profit at the end of the vear is T 84,000, then the share of ’
A=wﬁﬁwmwm~ﬁrmu4mmsﬁqﬂ
e T AR AR 'CL AT R st FET SEETE | 53 A
pra s (F02 #) § 5w wiieg)

(C) T 42,000

(A) T 32,000 (B) R 28,000
(M T 21,000 (F)  Question not attempted / i 91
fatch List-] with List-II :
List-] List-1I
@y 1f something is moving, it is alive (i)  Reflex action
(b)  Grasping, sucking, blinking (i)  Animistic thinking
() Deferred imitation (iii) Infancy
(d) Cogmtive theory (iv) Piaget
we1-1 ) |e-1] | gafEg FE
w1 gHl-11
(a) Afe &7 wfewe & @1 9 Sifaa € (i) wfaadl fran
() WEEA, YHA], Y HIEA (i) Hsia e
(c) vl (iii)  Sorarereen
(d) #aArieE fugr (iv) faars

(.’!.muw the most appropriate answer from the options given below :

A4 fev v faedl § @ wa@ suyad Ia gf ;

(A (a0, (-G (D10 (@-G)  (B)  (a)-i), (b)), (O, (-G
(©) i, )) (-Giv), (-Gi) (D) (@)-G), (b)-(i), (©)-(iv). ()i
(E)  Question not attempted / Wiﬁfﬁ VEE

‘0: B62 20
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ﬁ'ﬁﬁmﬂﬂzw%?
. . 4 ST T
2) i ® H -k B ") anmmm'
((c) Sﬁmq:ﬁ@'él A A, oy o 9 A3 7 P
| g 0
p @ (), O (© (B)  F (a), (c), (¢) ©) F (@), () ()
l('p ] s 0, @ @ () oTfE e

80:

=T sl W i o 4 o 1 7

S ® T © T
0 Sl (E) g v

: ﬁqﬁ«rﬁ?ﬂﬁﬁwmﬂﬁﬁqﬁ%-

” ), T (B) e () oA

|

|

p SO (B) STRRE ¥

[

:llm ¥ Il
W

LTI

Vatch List-T with List-IT : |
List-I List-II
Word Synonyms

() accomplish (i) rude

(p) cordial (i) foolish

() arrogant (i) achieve

(d) absurd (iv) friendly

Choose the most appropriate answer from the options given below :

) (i), B)v), -0 @G () @ B0 € (@)

© (a)-6), b)), (©)-Gv), (@) (D) (a)-(iv), (b)-(iii), (c)-(i), (d)-()

(E) Question not attempted

83.

1
Il.

B4, ‘@m'wﬁ‘m’wﬂﬁﬂﬁﬁmmﬁmm%7
() I (B) HTE X - (C) =
i (F) e T

% e by chooéfng the most appropriate word/words from the

zm-i“ the blank in the given sentenc
Ptu?ns given below : - .
"e s short tempered, _ interesting to be with.

(A) nevertheless (B) inspite (C) meanwhile
D) even as (E) Question not attempted
% Bgy ' ‘
5 21 P.T.0.
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dren from the followin .
ance  (b)  Early stimypp and learning needs ]

il
86. Sclect the health needs of chi

~opt
& Koo @) Understanding g i
C Nutnho ) "i“.on ' J
- (e) Supplementary nu iate answer from the optlons given bel ; 1
q g 0 O @and @ oty " |
() (a0, () and (@) omly 1 )@ ®) and (q) oniy
E) Question not attemptec . ey
%ﬁﬁgwﬁmmﬂﬁmm?aim@m\ 3
) mEEE A EER HwA (b) ﬁ"“'ﬁmmm
P ) s iy
(@) T T I H T -f__';’
=2 v 7o fymed § 4 @99 IUYE 33'"?'_{.
(A) F99 (o) 3 (o) (B) . o (b)., (d) iR (¢)
(© F= (), () # () (D) %9 (a), (b) s (q)
(E) suRa ¥&1
87. Feffesdiassa & 9 g7
(@) If== 3 T F s o b) W E B am
(c) =% SR ¥ wrw gE B (d) mw@aﬁzm:

(e) TH7 TH W GH F g -
ﬁémmﬁmﬁﬁmmmmmaﬁ@gf
(A) FFE(0), (0, (@) (B) HE (b), (9), O © F74 (a), (b), (d)
(D) =5 (a), (d), () (E) oafdww 0

88. =felen 5 | ‘dmita’ w5 aa wif .

(A) &S T8 I (B) UE-T uF wm
(C) e favam & 9w e o (D) TSR IS SreA
(E) ={afa uw
89.  Domains of development include -
()  Physical and motor (b) Cognitive and moral
(€)  Spiritual and evironmental (d) Socio-emotional and language
Choose the most appropriate answer from the options given below :
(A) (a) and (b) only (B) (a), (b) and (d) only
(C) (c) and (d) only (D) (a), (b), (c) and (d)

(E) Question not attempted
foem & spymy 4 dfvferq .

(a) Rt i e (vira) (b) SFRES ﬁﬂmm

(€)  snarferE s ey () e - ¥ A
mhy,vll{iwﬁﬁﬁmﬁmwﬁﬁz ‘

(A) %0 (a) it (1 @) Fig) () SK (4

(©) & () s (q) ©) @ 6 @ T

(E)  srwfa gyq

{e} B62 -
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91.

92,

)

i N i

()mm@mwmm 0 =
A Gy e

@ foFm T e (iii) gt
@ I EAERI G Tl
4 feg e foretl A ﬁmm‘ﬂ?mwaﬁm:
(A) (a)-(ii%)r (‘J)'(%V)r (C)'(?i), (d)-(i) (B) (;)4(i),' (b)-(i), (c)-(iid), (d)-(iv)
© @HE O @O0, @-@) () (@), (b)), (-G, (@)-Gi)

) FARG T

Development is the product of

] . (Choose most appropriate answer from below)
(A) Envxro'nment (B) Maturation and learning  (C) Height and Weight
(D) Heredity (E)  Question not attempted
for TSR T (P H S et wwgem I T
(4) TR (B) wiRwaem iR aqﬁrrrq (C) g 3R F5H
D) SR () - oy e -
Match List-I with List-II : :
List-I List-11 A
Vitamin Function il
(a) Vitamin K (i)  Normal immune system function and production of cells in eye (retina)
(b) Vitamin E (i) Absorption of calcium in the body
(c) Vitamin A (iii) Antioxidant
(d) Vitamin D (iv) Blood clotting
-1 %1 gefi-11 & gferd S :
-1 '{{éﬁ -11
fererfry
@) i i) m(mmm@mmaﬁxwmmm
aﬁ‘eﬁw
b)  foafe g (i) wﬂ? # Hfcaan &l
A (iii) - )
fqaﬁﬂ D (iv) ‘Gﬁﬂ ( the options given bel
00se th aanCT from P 5 elow ;
3 f(q e most appropriate
™ fomredt # & ST 5

mmmmwmmmmw
@UmmMm@m@W)immmmwmwm@m
g(mwwowwﬂﬂ)

Q‘L\esti()n not attempted/

1 Bgp 23 P.T.0.
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93.

94.

95.

Expand DPT, select correct 2

nswer :

s
Jeumonia Tetanu

(A) Diphtheria Pr
(B) Diphtheria Pneumonia Tuberctlosid
(C) Dengue Pertussis Tuberculosis
(D) Diphtheria Pertussis Tetanus$ >
(E) Question not attempted - )
‘DPT" =07 fiream o, W S T ¢
(A) feueifen =pifrn f27d ~
(B) fewefifan =mifn ﬁ@@é"m
) ¥ i SEEated
(D) fewefifen wfw feem )
(E) guia wed
Which of the following are the core rights of the children given by UNCRC ?
(@) Right to Survival (b) Right to Protection (c) Right to Equality
(d) Right to Development (e) Right to Participation
Frfeien 3 9 UNCRC g e g s & et fbrwm 1 4 §2
(a) STESiE@ F AUER  (b) wwaﬁw (c) TEm & AHFR
(d) To=m =1 sfysR ) srfamﬁmmrafw

Choose the most appropriate answer: from the options given below :

Wﬁqmﬁmnammmwwaﬁﬁq

(4)
(D)

(@), (c), (d), (e) (B) (@ L(b) (d), (e) ©  ®) (), (d), (e)
(@), (b), (), (d) (E) thespgn not attempted / 3TARA W9

Among the following, what is the most appropriate full form of IEDC ?

(A)
(B)
(©)
(D)

(E)

Individualized Education for Disabled Children
Individual Efforts for Disabled Children
Integrated Efforts for Disabled Children
Integrated Education for Digableq Chlldl‘en
Question not atte mpted

IEDcmmmTﬁquw%) \

(A)
(B)
(©)
(D)
(E)

ie: B62
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,&é} 1% 9 et 1 T
1
mﬁfﬁ'&? ST 9T _y g 1T
g Abstract ‘(l) mm
(p) Affail‘S - (ll)
Acting (i) wp
g MR (V) g
(4) g frel 8 TR SR

W
(iii), (0)-D), (€)=(i1), (d)~iv)
& ), ©-0, O, (@) o
@ T

T i ;

(@)-(ii), (b)-(i), (c)-(iv), ()-()
(@)-(1), (b)-(1v), (c)-(id), (d)-(i)

Which of the following is a bacteria] disease ?
) Aq gired Immuno Deficiency Syndron;e

\ Typhoid
g Q'Iestion not attempted

fr F A AP ISR
(A) @éwm@m

(B)
(D) Hepatitis B

Corona

o3 (B) @R

(C) TS = (D) Rurwfw - =t
(F) S |
o 15 79 R 11 TR it

T S W=D

i = wdmm
(2) FF@H WA ) eEw
b) FTEETHIRH @ @) T
() WadmFdaaidgen (i)
@) SIEmAfma (iv) e
ﬁmwmﬁﬁmwwmwm:

) @), (b)-(3), (0)-(ii), (d)-Gii)  (B) (@) (PG, (©-), (d)-(iv)

(A
Q) @)-iv), b s s
&) ,W; ;‘:; (), (c)-(i), (@)-0).

@) % fe 1 o o 2

© mwﬁﬁﬁmﬁm‘an

m m‘ﬁ'\"m‘tﬁmgw .
@Wﬁwmmmw“

o4 (®)

CT@), (b), (o)
D) g (), (d), () (E)

B62

<A Y :

e (b), ()
gt

25

(C) T (b), (c), (e)

D) (a6 (b)-Gii), ©-Gv), (d)-(i)

(b) Tl H TS HE IATEE ¥

RT.Q.
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100,

101.

. errl.ﬂ
" , . ched by Ministry of Wome, { nt, GOV

of India applies to : (Select ™ of 19
(A)  all the women between the age group to 25 years,

‘ 3y f 6 t
(B) all the girls between the age *’TGUPOZ ofo‘l:;S years,
(C) all the women between the age §roup to 30 years.

f11 to 18
(D) all girls between the age grouP = years,

(E)  Question not attempted . ; 5
TEEN (SABLA) sy ) for e T W EEISREICC I TR BT 1% o1 7T B, A B & (

T A Tl o 1)

(A) 19 ;:?:é?mﬂ oy i @t woft A o
(B) o3 18 = 3 wer o o # WA TR W
(©) lsésoaﬁ%nmmaﬁﬁwﬁﬂ%ﬂwﬁw
(D) nﬁwaﬁ%ummaﬁaﬁmﬁa‘gﬁq‘im

(E) 3guika ¥ {1
Choose the most appropriate answer from the options given in English for the Hindi tehn
word ‘T’ W =y
(A) journey costs : (B) journey fare 1
(@) convevance allowzmce’._'_f.‘___:T (D) travel costs ‘
(E) Question not attempte&:_}
. TS 1 W g 1L e i
T 1 C o
TGS Teh 9%

() TTEsfmwEIzd () =

(b) oo =1 3w (i) wEHTREE

(c) <0 Foufw €= g (iii) ==PER

(d) o= =1 39ms (iv) Forg

A= few e {8 8 Tl S St o F

(A) - (@-A). L), (-0 (@-i)  (B)  (a)-0), (-G, (©)-iv), (@)

(©) @), OH0), (i), [@-Gv) (D) (@)ii), (b)-Giv), (©)-Gi), (d)-G)
(E) &Tafd wod

103, “ged’" F PR @ et § 4 @ @ a@ 22

(A) e (B) s (C) st
(D) o () srpaf e
‘e: B62 26
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104. Which of the following is not true with respect to malnuttition ?
(A) Itis the intake of adequate quantity of food required by the body.
(B) Itis the inadequate intake of food both in quantity and quality.
(C) Protein Energy Malnutrition mdstly affects infants and children.
(D) Severe protein deficiency in children in the age group o wowaniind 6 S ERTS DINY KR0S
atrophy of muscles and stunted growth.
(E) Question not attempted ~~*

frferfan & | # m % g2 § v w6 10

(A) WIEF B v 99 w1 shaa W e e

(B) % 31w [ qen o H WieH Y TRm FE=)

(C) & S v aafiachert ferggail aive it =y wenfera et €1

(D) & TR 3 = 7 ¥ g = 35w A i fo et Ao @ A @ 2 TS G A
() IeR@ v

105. At 40 past 4 in the evening, the smaller angle between the hour and minute hands of a clock is :

TH S 4 T4 R W T SR AR E G A T RM B AT

] '
(A) 90° (B) -95° (©) 100° 2 N\ 5
(D) 85° (E) ‘Question not attempted / 37T ¥ 148

106. Choose the most appropriate reported form of the sentence given from the options provided.
The manager said, “Is Mira leaving early ?”
(A) The manager inquired if Mira:is going to leave early.
(B) The manager demanded to know if Mira was leaving early.
(C) The manager said whether lygga was leaving early.
(D) The manager asked if Mira was leaving early.
(E) Question not attempted ’

107. At what rate of simple interest, a certain sum will increase by upto 36% in 3 years ?
TuET =aTe §, U faiad Ut 9 o % e e R 36% a% 9 s 2
(A) 10% (B) 12% (C) 18%
(D) 9% (E) Question not attempted / CRGIEG b

108. A shopkeeper marked every item at 25% higher than its cost price. Then he offers 12% discount on
the marked price. If an item is sold for T 3,850, then how much profit did the shopkeeper earn ?

T T 3 A T e e @ 25% A ea sife i fr 9 sifed e wo12e e
%1 4fz U = 7 3,850 F1 G A E, W FHA fefel e S ?

(A) T 292 (B) 12328 (C) T 350
(D) % 250 (E) Question not attempted / 3TRA W
109, Freferfimn forerl 6 4 ¢ e - A WK~ W TR S e § -
(A) o - W (B) e - S (C) AW - TEM
(D) @y - va (B) eraf u¥
6: B62 o P.T.0.
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T i <
110, ‘w3 , ey g I &
10. 951w F gl W q;qi"ﬂ © AT
(A) F A F9W (B) o
(D) w9 Ha @) ¥ L
3y form T T A SR SR R 2
11, ‘e s g fea A B i v
(A) 7% TG () AT () e
(D) TgEs ¥9™ (B) STIRRT T
112. F 1% g g 1 0 free ST
et et 11
e AT YT ( 21ef)
() e o e F (i) WMW
) T T e W WN (i) e AT W
(€) TH RBeA (i) Eﬂaaﬁaflgm
' d WEITEH (i) PR 3 1 1 e

al

ﬂa&qwqfﬁaﬂﬁﬂmwgaammwﬁﬁﬁq -
(@)-(i), (b)-(1), (c)-(iv), (d)-(ii) (B) (a);E(iﬁi, (b)-(iv), (c)-(i), (d)-(ii)

(A) :
(© @), ©)-), ©-), (@-@) (D) (a)-i) (B)-av), {o)-(i), (d)-(ii)
(E) s 5w - |

o

- Weaning foods that support the transition from breast milk to regular foods are :

(2) Dalia (b)  Bhindi ki subji (c)  Sooji Kheer
(d) Chapati (¢) Khichdi

Choose the most appropriate answer from the options given below :

(A) (a), (b), (c) and (e) only (B) (a), (c) and (d) only

(C) (a), (c) and (e) only (D) (@), (b), (c) and () only

(E)  Question not attempted

79 2R 9 49 (2eR) mmﬁ:iuﬁﬁqfqai‘ifm (STRR) W i w1 T v & ww i

(a) =fern (b) fort o wesht © T
(d) =i (© fowe)
(A) 35 (a), (b), () ¥t (e) (B) & (), () 3R (d)
y (© ¥ (@), (c) M (o (D) e (a), (b), () 3T (d)
(E) ergafe e
‘s> B62 28
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114. Which of the following do not come under the maintenance of public hygiene ?
(a) Proper disposal of waste and excreta (b) Keeping the body clean
(c) Disinfection of water reservoirs (d) Consuming clean drinking water
Choose the most appropriate answer from the options given below :
(A) (1), (c) and (d) only (B) (b)and (d) only (C) () (0 and (d) only
(D) @) an'd (€) only (E)  Question not attempted
Frfefed ® & Fm S wwsm % wam 3 swta T8 o 8?2
() MR 3 9& 1 3w Fremm (b) YR R T
(€) SEWE W FNUE s (d) T T ST ST
9 fee o fmredi F @ vl swm o
(A) 59 W), (@) (@) (B) ¥ ) o (d) (C) ¥ (a), (c) ¥ (d)
(D) ¥ (a) R (o) (E) argefa e

115. Which of the following is not associated with malnutrition ?

(A) Rickets (B) Cancer (C) Anaemia

(D) Scurvy (E)  Question not attempted

7= 8 | o W Tuhe | defud T8 82

a) &3 (B) W (C) TEegan (THifHEn)
(D) =i (E) STgalE we7

116. Fill in the blank in the sentence given by choosing the most appropriate word/words from the
options given below : oy
The meeting will be held - the low attendance.
(A) although (B) evenif (C) inspite of
(D) even when (E)  Question not attempted :

117. ;'\C’:hlr')ch of the following are the tasks of a supervisor in Integrated Child Development Services
ICDS) ?
(a) Contacting village leaders and important persons.
(b) Organising community meetings.
(c) Selection of Anganwadi workers and helpers.
(d) Provide formal education to the children of the village.
Choose the most appropriate answer from the options given below :
(£) (b), (c)and (d) only (B) (a), (c) and (d) only (©) (a), (b) and (c) only
(D) (a), (b), (c) and (d) (E) Question not fattemptecl
Integrated Child Development Services (ICDS) ¥ Fllar® (wemesm) % wiv-wi 4 2

(a) 7ia Fari 2 e wifamdl @ daeh wafud F
(b) HAMEIAE Gl 1 ArEeH H |

(c) wifmAaTE afaei <K weEdl o1 w9 wT
(d) Tia & =i & e shofen fen g S

ﬁéﬁﬂ.wﬁwﬂﬁﬁmmwaﬂwﬁﬁm:

(A) #E (b), () (@) (B) T @) O 9T (d) (C) A (a), (b) 3R (o)
D) (a), (b), (c) Al (@) (B) ST 5
29 P.T.O.
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A

118. Which of the following is NOT the most appropriate example of fine motor development during 4
- Whach of the following 1

to 6 years of age ? tal

A) Catching a bounced ball: il it

((F')) Manngi!{’lg a spoon and fork' pm:;orly while ea‘hng

(C) Drawing a circle, square triangic.

(D) TPutting on clothes ]‘ﬂ‘P(‘TIY -

E) Question not attempted —

;ﬁﬁﬁ'ﬁqm’lﬁbﬂﬁmaﬁ m*“m‘l&“.ﬁiﬁfﬁm (i A TaETHe) 1 TF Hay

JUGER T T € 7 f

(A) TF THEE g S B e sy T

(B) w1 ER TR T @ He alih

(©) T gw, =, Be w1 o Ee (F)

(D) =usi = 3faE yER A T

(E) SFaia W

110, freffen 3 4 91 @ T wA S FWAT?
@ TEwmE@E (@) IWATHEGRL, ()
@) TUTTEaEEEl () AV T T Bl

W TP FE AL Sl |
s few e fewedi nﬁmmmmwaﬁ&ﬁ
(A) =9 ), (©) (e) B) F @), (d), )

-

(D) 37 (a), ®), (©) (E) 3HEDIE ¥

(© % (b), (9), (d)

-1"“"

I
’I":‘
alt

120. Select the teratogens and other factors that affect é;?l;atal growth :

(a) Non-prescribed illegal drugs (b)  Excessive quantity of cafeine

(c) Protein-rich diet (d)  Extreme heat and humidity
() Milk and milk products

Choose the most appropriate answer from the options given below :

() (&) ()and @ only (B) (b)and (d)only (©) (@), (b) and (d) only
(D) (c) and (e) only (E) Question not attempted

T P T S FE] %1 99 Fifm s gfe (N w v w9

(2) @ T T (grE) () SRR sl T

(c) W AwE AR (d) et T Sl st
() 74 2 2y & I

(B) o (b) o () (€) ¥ (), (b) 3R ()
(£)  eraf@ ava

7= fre o et 4 e v o
(A) & (a), (c) 2 (d)
"IN (D) = (c) =i (e)

121. ‘iﬁ—q‘aﬁwwﬁ'maﬁqﬁfwmmaﬁqﬁrﬁ%?
(A) s (B) feaia (©) wgw e
(D) wEHT

(B) srfa e
ie: B62 30
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]-1.

() —
o e 3ttt = :
L 07 “éﬂﬁm% (Frer & & war@ I TN T

(B)
©)
(D)

The need for care of children

. " answer)
..., Benefit Amendment A ¢ appropnate
ct 2017 4, e the moS
ocuses on : (Choos

The need for care of chj] dren o nder three years.

Question not attempted

?ﬂqaﬁﬁm@%ﬁﬁ%@%ﬁ
wmmﬁﬁmﬁmm
mﬁwaﬁw%a@;aﬁ%@qﬁﬁ

) SFERA SR e

\Mahesh is ranked 15" from the botto A th .
total number of students in the classrvn When counted from the top, he is ranked 35™. What is the

) 1 T A T B RS ¥ st 7w 9 @ e 5 e A 3590 1 v A et Pl w1

e feet €2 .
(4) 50 (B) 51’_:?_:: (C) 48
(D) 49 (E) QB_!!; on not attempted / 3T m

1,

. Choose the most appropriate word Lﬁj"ﬂl in the blank in the given sentence.

The bus service is very good. Therejs—_abus — _ ten minutes,

(4)
(D)

every (B) 3“7' (C) most

each (E) Question not attempted

- Match List-I with List-II :

List-T List-II
Manuscript (i) A state of highest perfection

Theism (i) Book wgffen by hand

Utopia (iii) One who is indifferent to pain or pleasure
Stoic (iv) One who beileves in the existence of God

rom the options given below :

Choose the t nswer f
¢ most appropriate a (B) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(1)

(B)

:! Bsz

a)-(i), (b)-(ii), (c)-(iii), (d)- (iv) -
“Mwm@mww

Question not attempted OO0

(D) (@)-(ii), (b)-(i), (©)-(iv), (d)- -(iii)

31 _
P.T.0.
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126.

2]
r

AIDS is caused by : on
1o ot er
()  Sexual contact with infected P] i
. 00¢
(b)  Transfusion of mnfammatf‘d b
child

(c)  From infected mother t0
(d) Sharing bed and clothes

Choose the most appropriate answer from the options given below :

(A) (b and (d) only (®) (@), (b) and (¢) only (C) (a), (c) and (d) only
(DY (), () and (d) only  (E) Question not attetripted
ATDS B ¥ H =1 T B

(a) wefm i & S gek T A

) sfem = 3= 50

() Hwfas o B gam H

(d) Fomme mw w9 HEN 0 4

mhmﬁmqnmmmaﬁ

(A) F== (b) R (d) (B) F (a), (b) 3 (c) (C) Fad (a), (c) ¥R (d)
D) FEE (), (@) () FI@ITH

7. Fill in the blank in the given sentence by choosmg the most appropriate word from the options

given below :

Though the film had bad review, I qunte hked it,
(A) a (B) an = (C) no article

(D) the (E) Question not attempted

- Identify the diseases caused by worms in human beings.

(a) Ringworm (b) Amoebiasis (c) Ascariasis
(d) Elephantiasis

Choose the most appropriate answer from the options given below :

(£) (c)and (d) only (B)  (b), (c) and (d) onl}? (©) (). (b) and (c) only
(D) (&) and (b) only () Question not attempted

HITE B FfH R € w1 i 9 v i -

(a) fooram (b)  swiifaufaa . () Uehife

(d) vfEwf=ufoyg
19 feu v foeedi 4 4 A 30 I

(A) T30 @A) () Fmw (), ) o @) (©) T (@), (o) 3t (0
(D) F& (a) 30T (b) () srufm e
is: B62 32
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D Tt Ll
-,-»-" following
the 10 May be th . n
ich in i i ¢ Co . airments ¢
; “fhjch i flCuItY m ;nteraCt]ng with g nseunnceS of sensory lmpa]rm
y 510“'ed deve DPMENt of oy uagee,nyim“mcnt.

f heredit .
(t) currence © editary propr -
(©) lowed soc10-emotiong] develblmns

i OPmer
(@ the most aPPTOpriate answey r o0t
00 nl fr . #
" 1), () and (d) only (g (a), oM the options given below (c) and (d) only

(M {a): (b), (@) and (d) (g Q‘lemz and (d) only (@)

(D)ﬁ_ 3 g3 Ffe & TR w2y O not attempted
:famﬁmmﬁa‘ﬂﬂmﬁmﬁw

® “Wm

i gﬁ&ﬂﬂﬂmzﬂqﬁﬂ@m

(d e . v

ﬁmﬂﬁmﬁﬂmmw?ﬁ;

) ¥ 0) (© ¥R (d) (B) I (), (o) s @ ©) FFd (o) ¥R (d)

n @O O B s

s n il s s by e

s (4) Vitamin A and carbohydrates ;_:(1‘3)_ eg:,ff;l ;:ge;fs'
(€) Vitamin D and calories ~AD) Proteins and calories
() Question not attempted St
S AREE A iR g e g B
(4) TrafF-u o FEtersey =(B) e v
© TRim-g iR Heda (D) g wen Sl
€ sFgu@ v

BL Till what age the reproductive organs of human female are NOT fully mature and the female
hormones are also NOT at the optimum level ?

(A) 19 years (B) 21 years (C) 25 years
D) 17 years (E) Question not attempted
5% 217 o T e 3 W ST T A T € € S gt o g e 2 ¥
(A) 19 =4 @ 2179 © 25 ad
(D) 17 = () AT W
B - i Pt Formedi ¥ A @ WA 280
T - A e LECELREY
AT’ WG FE SN © i

O fmgemagwr 0

) ——
R T e 3 '
(A) " e 4 e el (a) (©) F (©) 3k (a)
0 I (q) R (a) (B) -
O @ T
e - PT.0.
it _r_,.--f"""m“"‘"‘*——w
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133. Which of the following pairs are «.nrroct . 1 :
(o'\) Touch . mml'nrtmg anc S(‘lﬂ““niy" v
) Cleaning eves Hygicne -
&= Visual growth LY

-
2
e

135.

137.

136.

{c) Infamt games Py
(d) Facial gestures - lLanguage development ()

Choose the most appropriate answer from the option§ given below :

(A) (b) and (c) only (R) (a) @ and (d)only ™, (C) (a), (b) and (d) only
(M) () and () m]"‘. (F)  Question not attempted

P 4 3 = o A% 2 =

(a) TN srm 2 Al e .

b SdmogmwTn - @A

(© forg B S Ll |

(d) e Eemwm - um fEE

$% fov o Prmed  © wER SUGE 390

(4) F== (b) 3 () (B) FA (a), (c) 3R (d) (©) Fa (a), (b) 2 (d)

D) F5= (a) @ (b) T) AR T

(4] Tr T (B) WcI%9 HEM L (© wgEiewEE

(D) awodnms TOm (E) ¥gaia we3 C

:‘]":imr the sentence below by choosing the most appropriate prefix from the given, option
It was not just rudeness; they were completely 1 efficient too.

:{ )‘ i] (B) in (C) over

(E) Question not attempted
\'n’.--ug:; muneral 1s required in the formation of DNA and cell membrane ?

( :j"""" (B)  Phosphorus (©) Sodium
-'.) Calc inm ' (E)  Question not attempted

HiA TE ETE e % i 4 2w | i e erevae 2

A ( s ticdion 0O
' e ”5) o gh-= (C) H”g 2p
(D) Ffeomm (E)  wrafa 5 L{ )

{ 1

TH=iHlEs ¥ 1 e q/EH @ v o
(a) &Ry )

wer €7 =

(b) yd (c) wwm

(¢)  Hdiae

SUYEA w1 gYd i ;

(B)  det (b), (0, (d) Q) Faa (c), (d), (o)
() saf@ g

(d) T

A= fev Mu e 4 4 Haq
(A) & (a), (b) (d)

(D) &4 (b), (0), (¢)

is: B62
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he most aPPIopriate Optio
e

t
Oose y ki d to e :
135' g:ev afe fv]ervzal;m Ine, They heat ?nfl" in the b]ank in the given Sentence
" asi ®)  agify. their own son-
Sify. ..——— the1 .
) wetem ®  Quegglbe (€ asitlwers
ion woul N not attempted
(hich conclusion would fo]jq,,, . <in
18 mwmeﬂfs : (®) Al Circles are h.-basis of the given statements ? .
5 () Al Squaros ar lang]eg, (b) " No triangle is rectangle.
Cond“"’i““s : ()  Some tria“gle: Tectang]ag, 1 :
(iii) Some g s ATe squares, (ii) ~Some triangles are circles.

are . ‘ i
"ectangles, (iv) - Some squares are circles.

o light of the above statem
inth “S: choose the most appropriate answer from the options given

oW
:,( ¥ Only (i) and (ii) follow
) Only (i) and (iv) follow (®) Only (ii) and({iii follow
® Question not attempteq (D) Only (i) and (iv) follow
Fl F IR H-
s 3 T s e

g () I IEPnmE,

© =it s ®) = ff Py s T ¥
fd: () TO Pywat . -

(i) Frqs .
‘ .(111) TS T o ¥ (i) gaﬁ;gg
R T 5 ST 3, A% R T e 2 ey s e

o () R (i) ST (D) e (i) iR () :
5 s | = ST T

10, 'Read the following information carefully
.Xﬂ” means that ‘X is sister of Y'.
;‘YY means that ‘X is daughter-in-law of Y'.
,X_Y,means that ‘X is husband of Y.

means that ‘X is wife of Y'.

@%mmmﬁmmwm%mﬁﬁﬂﬁm@mml
BAEE T TRV pray '

{

to choose the most appropriate answer for the q-uestion.

X+Y' 3 4 —

ogr At X, YA T

‘Xyﬁaﬁ%%x,yrﬂqﬁ%l

Whic: quaﬁ%ﬁh—x: Y #i gt B b
; of the fOllowing means A is the son of M?

(8 ¥ o s o, M E ) -,

o AUty (®) A-U+]"M LO©) A*u4 oy
; A+ Uiyey (E) Question not attempted / 1wt yyq

35
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141. Match List-l with List-IT :

List-1 List-11
Year Policy/Programme A
() 2014 () The National Policy for Children (NPC)
('hj 2016 (it) National Nutrition Policy
() 2013 (i) India Newborn Action Plan (INAP)
(d) 1003 (iv) National Plan of Action for Children (NPAC)

et W geh-n | gafwm BT
1 -1

— ffer/ W
(@) 2014 () T e (NPC)
(b) 2016 () T 9 it
© 2013 (i) A aea Ty w7 A (INAP)
(&) 1903 (iv) T & [T T w1 T (NPAC)

Choose the most appropriate answer from the options glven below :
= fog o fomedl § & wad e SW gy -

(A) (2)-(), (b)-(v), ()-(), (@-@)  (B) (a)-(iv), (b)(}l) (©)-(1), (d)-(iii)
(C) (@)-iv). (b)-(i), ()-(i), (d)-)) (D) (a)-(ii), (b):(id), (c)-(1v), (d)-()
(£) Question not attempted / ﬂﬁﬁﬁﬂ g f

142. Deficiency of Vitamin D causes ;

(A) Cancer (B) Night Blindness (©) Anaemia
(D) Rickets (E)  Question not attempted
fezi==-21 71 74 | ¥ A i @ wemf
j";.,, — (A) Tz M (F=3) (B) T (C) TETeTar
1 ) TR (FEE) (F) safa v

143. Which of the (ulluwing are not the beneficiary of an Angﬂﬁwadi ?
(A)  Senior citizens

(B)  Children (0-6 years) - © Nursing mothers
(L) Pregnant mothers (£)  Question not attempted

| = A 8 9 sfrarg) GEIRIE
(A) e quif

(B) &= (0-6 ad) (C) UM Y et =
(D) miaehmfcmi

(E)  srqufta we

‘o: B62 36
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144. Identify from the followin

. . ue to sedentary life style R e,
(d) Hypertension (€)  Goiter

Choose the most appropriate answer from the options given below :

(A) (). (¢) and (e) onl (B) (b)and (d) only

© (), (c)_ and (d) only (D) (), (e)and (d) only

(E) Question not attempted -
mﬁﬁmﬁﬁ%ﬁm%%ﬁ%%’w%mﬁm%i
@) Toem (b) e A/ (c) et
(d) SETEN (€) Hm ‘ '
ﬁ%ﬁqmﬁﬁﬁﬁmﬁmmgﬁ: -

(8) 9 (), () 3 (o) (B) ol () 2 ()

© ¥ (), (o) 3 () (D) T (a), (e) 3R (d)

(B) #TRe e

145. Put the following process of iden

(@)  Svstematic observations
(®) Screening

() Comprehensive evaluation

tifying children with disabilities in right sequence.

(d) Examination for the presence of risk md1Cator§_and protective factors.
a&mﬁf%mﬁaﬂmﬁm%ﬁwﬁﬁéﬁ;ﬂuﬁﬁﬂﬁmﬁmﬂm:
() =TEwuFR R/ TEaEm
(b) W= (BRIET)

(c) 9= i =t
@) mw@nmm@aﬁm@ﬁrﬁﬁ

Choose the most appropriate answer from the options given below :

1= T T fammedl H | Wad SugeE sw o i

(4) (®), (). @), (d) (B) (c), (b), (d), (a)

(D) (a), (b), (d), (c)

",
h

-
i

!

I

;]
o

| ! ‘i"'. w? |

/|

g I j
g K

©  ®). (), @, ()
(E)  Question not attempted / IERE TR

146. T 1% =09 gelt 11 %1 foetm Fif :

".{?ﬁ I 'ﬂ?ﬁ I m :'x

b fed wra
(@) Assignment (i) AIIHADH 1
(b)  Bonafide (i) IAdH G —
(c) Attestation (i) fraa = &
(d) Ceiling (iv) dArefae

'

79 few o feanl 4 vy e A

?;j ﬁé:gl) (b)-(i), (c)-(iii), (d)-(iv) (B) (a)'(f")' (b)-'gu), (C)'.(i)r (d)‘(ii'f)
(C) (a)—(iii;, (b)-(iv), (C)-(i), (d)-(ii) (D) (a)-(i), (b)'(“): (©)-(iv), (d)"(iil)
(F) s v

37 P.T.0.
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147. Match List-1 with List-II : List-11
List-1 A Domain
Behavioural variations (i)  Cognitive
(a) Delayed milestones (i)  Physical and motor
) Quict and aloof Hons (iii)  Multiple domains Paediatricians
(c)  Frequently asking que like banging (V) Socio-emotional
(d) Repeatative behaviours
qﬁlaﬁqvﬂnﬁgﬁfﬁﬂ HITL : o 1
e -1 2
wraE § fsard . ;
farsifi meeri (e F TR) h T
(a) o o e o (i) il e dom
&) i Sk s (i) A st At
(€) WR-WRUv g .
(d) T STeEn S o & T (v) e HaewE
nswer from the options given below :
Chch the most appropnate a
= fov e ol ﬂm“‘iﬁm !
i (B) (@)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(A) (a)-(0). (b)=(iii), ( )(1\) (d)-(ii) d)-
() (a)-(ii), (b)-(iv), (c)-(1), (d)-(iii) (D) (a)-(ii), (b) (1) (C) (iif), (d)-(iv)
(E)  Queston not aﬁempted / 3Tj’dﬁ?l a3
148. For the sentence given below, choose the most appropriate answer in its comparative degree frop
the options provided.
No other State in India is as clean as Kera]a.
(A)  Kerala is cleaner than any other State te in Indxa
(B)  Kerala is verv clean.
(C)  All other States are not as clean as. Kerala
(D) Kerala is the cleanest State in Indla E
(E)  Question not attempted = %
14¢. Pomnt R is 3 m. towards the East of pomt A :
Point S is 4 m. towards the South of point R
# Point H is 5 m. towards West of point S,
k Pomnt M is 4 m. towards North of point H.
i}‘\ 7_5711 E?ﬁov'““[mgmq-(gl
ez s, faz R & i 55 A4 W
. w__wfws - Em = 3 s i w
- &= M, f*?H mﬁgp_;mqtzl
4 Yhich of the following Points are collinear points ?
o Lt=R- ] CACK: 'f-p T )
| A B
:U’ o 2 ’; (B) AR M (© ASH
‘ e 3 (E)  Question not attempted / T{aRE W
JSU. I O Vi e .
m‘:w :ubi Ilm ;’1[ rlt,!':d r!? C tl)ntam milk and water mixed in the ratio 5 : 2and 8:5 respectively. Find the
. milk and water gy, ;n ;a::lt: :;f \;(ass( Is A and B should be mixed to get a new mixture containing
i 7 1
:;"Z; Tf&g“ "T” W T 5 3 ey, 5 % o 4 fafh ) ST WA Fire fred o
. 9214 # fufyq % Uy ﬁm'uummf\wﬁ Ty dﬁ(ﬁmm‘) (4 B
(A) f 7 (B) 5.3 © 7:2
¢ .
(D) 5:2 () Question not attempted / 3TERA v
~00o0-
‘s> B62
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